M:thin English Brain Teasers level 2 #22

What is the time pattern here ?
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Which 2 numbers are missing ?

2 > |12 > |24

2 | > 4| —> |7

What is the missing number ? What is the value of the
question mark ?

A EEER\\ g 24

db 2 10| 7 |30]18
\v’ 4 12
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M:thin English Brain Teasers level 2 #22

Answer to brain teasers

puzzle1: 1:55
The 3 digits 155 rotate 1 position in each next watch.

puzzle2: 6and8
Numbers multiply by 2 horizontally and divide by 3

vertically.

puzzle3: 7
All 4 numbers add up to 26, or Z.

puzzle4: 6
The left cross has a pattern of multiples of 2, the cross on the

right multiples of 6.
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